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3 (a) We have two triangles representing the limits of the angle at which he can kick. The left triangle
corresponds to kicking at 14°, and the right corresponds to kicking at 30°.

n - 5.6+4+n
m m
14° 30°
From the diagrams,
wri=" 1
tan = (1)
o1 _56+n
ten80° g5 = —— ()
From (1) we have 4n =m 3)

From (2) we have 2(5.6 +n)sm = ma11.2+2n  (4)
Substitute (8) into (4) = 4n = 11.2+2n = n e2.5.6 metres. Substitute into (3) = m &= 22.4 metres.
n+28 5.6+28

. (b) Let a be the angle, so we have tana =

- g = 0875, am 56 > 5 0
- 22. . ' - |
(c) cos26° ~0.9 = —hi = 0.0h 82224 = h ;;%‘f =249
. 22.4
26°

So the kick is good. " fNismy e
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